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dajy 0.5 go daja 0.5 1 Jlguull

Consider the magnitude and
direction of vectors Aand B as
shown in Diagram 1 below. Which
oneof the following diagrams would
represent B - A= R?

Dragmmm A Dragemm B Duagemm Dragraen D
7 B ) /f B
yA * < /4 A
./ . N A N

Diagram B @ :éxxall a4yl

Diagram B @& :danndb)|

dajy 0.5 go dayx 0.5 2 Jlgaull

The polar coordinates of a point
arer = 10 m and 6 = 45°. What
are the Cartesian coordinates

(x,y) of this point

& dilyl
x=7.07m,y :63220ll
=7.07m
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The magnitudes of two vectors A
and B are A = 10 units and B = 2
units. Find the largest value
possible for the magnitude of

the resultant vector R=A + B

12 @ :63330ll dilayl

12 @ dano dl)

dayy 0.5 go dajn 0.5 4 Jlguull

The magnitudes of two vectors A
and B are A=10 units and B = 2
units. Find the smallest value
possible for the magnitude of the
resultant vectorR=A+B

8 @ :Ball djlayl

8 @ ‘duandb)
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dajs 0.5 go dajy 0.5 5 Jlguull

A vector lying in the xy plane has
components of opposite sign. The
vector must lie in the second

quadrant
Jlgn 63310l dilayl
Jign @ daan dly)
> 0.5 go days 0.5 6 Jlguull

If A= - B, this means that they have
the same magnitude and opposite

direction
dlgn & 833001 dilayl
Jign @ dann dily)
da)y 0.5 go dajy 0.5 7 J1guull

The velocity of a sports car is a

vector quantity

dlgn @ 3330l dlayl

Jign @ :dann dily)
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dajs 0.5 go daa 0.5 8 Jlguull

Vector A lies in the first
quadrant, its components will be

negative
lha @ :6331all dilayl
lha @ :daan dl)
daja 0.5 o dajy 0.5 9 Jlguull

The magnitudes of two vectors A
and Bare A= 5unitsand B =2
units. The smallest value

possible for the resultant vector
R=A+B is 2

Jlgn € 63320l dilayl

Jlgn @ dann dily)
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dajy 0.5 go dajy 0.5 9 Jlguull

The magnitudes of two vectors A
and Bare A= 5unitsand B = 2
units. The smallest value

possible for the resultant vector

R=A+B is 2
dlgn @ 63310l dilal
Jign @  dann all
da)y 0.5 go dajn 0.5 10 Jlguull

If the vector A along the direction of
vector B is zero, this means that
they have the same magnitude and
opposite direction

Jlgn @ :63310ll dylayl

Jlign @ dann db)
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A point in the xy plane has
Cartesian coordinates (4.00,
-2.00) m. Determine the

polar coordinates (r, 6

& iyl
r=44, 6 =- :63210ll
26.5°

& dila|
r=44, 6=- :duan
20.5°
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dajy 0.5 o dajy 0.5 5 Jlguull

The velocity of a sports car

IS @ scalar quantity

lha @ :63310ll dilayl

lha @ :dann dlal

dajy 0.5 o daja 0.5 6 Jlguull

The volume of oil is a scalar

quantity

algn @ :6311all dilayl

dlgn & dann dily)
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dajy 0.5 o dayy 0.5 7 Jlguull

The volume of water in a

can is a vector quantity

lha @ :6331all dilayl

lha @ :duan dly)

da)y 0.5 go @) 0.5 8 Jlguull

The temperature inside the

fridge is a vector quantity

lha @ :63310ll dlayl

bha @ :duan dly)
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daja 0.5 (o dajr 0.5 9 Jlguull

A unit vector is dimensionless
vector having a magnitude of
exactly 1

dlgn @ :63310ll dlayl

dign & dayn db)

@3 0.5 90 @305 10 Jlguull

The velocity of a sports car

IS a vector quantity

algn @ :63310ll dilayl

dlgn & dann dilal
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daja 0.5 o dajr 0.5 3 Jlguull

The polar coordinates of a
pointarer =1 m and 6 = 30°,
What are the Cartesian

coordinates (x,y) of this point

% byl

X=0.866m, y=0.5m :63all

v dabl
Xx=0866m, y=0.5m :danan
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What is the z component of
the vector ( 107 + 907’ ~ 30k )

m

-30m @ ;63220 dilaI

-30m @& cdauandlb)
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dajy 0.5 go dayy 0.5 5 Jlguull

Vector A lies in the xy plane.
Both of its components will be
negative if it points from the
origin into the first quadrant

lha @ 63310l dylayl
Lha

0 daan dil)

da)y 0.5 g0 d3)2 0.5 6 Jlguull

The volume of water in a

can is a vector quantity

lha @ 63320l dilayl

lbha @ :danndll
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The unit of velocity is m/s

algn @ :63310ll dilayl

ul 0 daan dilal

.

d3)2 0.5 go a2)2 0.5 8 Jlguull

The temperature outside

the university is a vector

quantity

lha @ :63310ll dilayl
lha @ :duan dlyl
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Vector A lies in the second
quadrant, its components will
be positive

lha @ :63310ll dilayl

lha @ :daan dil)

dajy 0.5 go dajy 0.5 10 Jlguull

The velocity of a sports car

IS a vector quantity

dlgn 9 :63a0ll dilayl

dlgn @ daan gl
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The polar coordinates of a
pointarer=2mand 0 =
60°. What are the Cartesian

coordinates (x,y) of this

point

v dslayl
X=1m, y=1.7 ;63210
m

o dilal
X=1m, y=1.7 daan
m
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Vector quantity has no direction

lha € :63310ll dilayl
lha & dapn dbl

4230590 ayx 05 10 Jlguull

Vector A lies in the second
quadrant, it has
components of opposite
sign

ulgn @ 63310l dilayl

dlgn @ danan dib|
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The Cartesian coordinates
of a point are given by
(-2, y), and its polar
coordinates are (4, 120°).

Determine the value of y

346 & :63210ll dillall

3.46 @ Gdundll

Scanned with CamScanner



P05y 05 6 Jigaull

Vector A lies in the first
quadrant, its components
will be negative

lha € 63310l dslayl
lha @& :dauan dila)

63305 40 43305 7 J|guull

If the vector A along the
direction of vector B is zero,
this means that they have
the same magnitude and
opposite direction

dlgn € :63310ll dilayl
dlgn & dann dib)
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The mass of an electron

IS a vector quantity

lha € :63310ll dilayl
lha @& :daan dilal

dajy 0.5 (o dajy 0.5 9 Jlguull
Vector quantity has no direction

lha € 63300l dilayl
lha @ :danan dl)
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The magnitude of vector A is
8 km, and the magnitude of B
Is 6 km. The possible values
for the magnitude of A+ B is

14km
Jlgn & 63130l iy
Jign @ danan dily|
05 go a0 10 Jlguull

The magnitude of vector A is
8 km, and the magnitude of B
iIs 6 km. The possible values

for the magnitude of A +

Bis 8

lha € 63310l dslayl

dlgn ©  dann dily|
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The magnitudes of two vectors
A and B are A = 5 units and

B = 2 units. The largest

value possible for the

resultant vector R=A+B is 7

dign € 63330l dylayl

Jdign @ danan db)

da)» 0.5 go d2)3 0.5 8 Jlguull

If the vector A along the
direction of vector B is zero,
this means that they have the
same magnitude and opposite
direction

Jlgn 63310l dlayl

Jdlgn ©  dann dily)
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What is the x component of
the vector ( 8’]' + 8Kk )m

Om @ :83all dlayl

Om ¢ ‘dvandl)
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The distance between Taif

and Jeddah is a vector

quantity
lha @ :63310ll dilayl
lha @ :daan dilal
dajy 0.5 Jo dajy 0.5 6 Jlguull

The velocity of a sports car

IS a scalar quantity

lha @ :6330ll dlayl

lbha @ :daan dlyl
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What is the z component oithe
vector ( g 73: ) m
2m @ :63a0ll a4yl

e
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The vector A has an X
component of Ay = 6.0
units. Find the Ay of y
compoenet if the
resultant of the vector
R =10 unit

Ay =8 &y 600ll i
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)y 0.5 o daya 0.5 1 J1gudll

A vector lying in the xy plane has
components of opposite sign. The
vector must lie in the third quadrant

lha @ 63310l dilayl

by @ :dyan dly)

-

daja 0.5 o daja 0.5 2 Jlguull

The ratings of a TV show is a

scalar quantity

dlgn 02 :6331all dila Vi

dlgn C»  danan diln

-
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The unit of velocity is m/s

algn @ 83310l dlayl

dlgn @ daan dll

dayx 0.5 Jo a3 0.5 4 Jlguull

The unit of distance in S.I. is

meter
dlgn 0 :6331all dilall
dign @ daan dila)
dajy 0.5 o dajar 0.5 5 Jiguull

A vector lying in the xy plane has
components of opposite sign. The

vector must lie in the first quadrant

lha @ :63300l1 dylal

bha @ :dann dilal
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dajy 0.5 (4o dajr 0.5 6 Jlguull

The magnitudes of two vectors A
and Bare A =5 unitsand B = 2

units. The smallest value

possible for the resultant vector

R=A+Bis 2

dign 02 :63310ll dilal

dlgn O :danan diln)
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The magnitudes of two vectors A
and B are A= 10 units and B = 2
units. Find the smallest value
possible for the magnitude of the
resultant vector R=A+B

) , 63nall dilal
Q , dann dlyl
dajy 0.5 (o dajr 0.5 9 Jlguull

The vector A has an x component of
Ay = - 10.0 units and a y component
of Ay = 10.0 units. Find the

magnitude of this vector

14.14 7 :6311all dilall

1414 @ @wo @b
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The vector A has an x component of
Ax =5.00 unitsand a y component

of Ay = 5.00 units. Find the direction
of this vector

0=45° @& 63130l dilayl

0=45° @& :daandl)
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dajy 0.5 o dajy 0.5 1 Jlgudl

The polar coordinates of a point
arer =2 m and 6 = 60°. What
are the Cartesian coordinates

(x,y) of this point

dylayl
X:']m,y:']_?m 63110l
S danan dily)
X=1m, y=1.7m
dajar 0.5 (o daja 0 2 Jlguull

Your cat is running around the
grass in your back yard. He
undergoes successive
displacements 4 m south and 20.0
m west. What is the his distance

204m € :6xnall dilayl

24m ) dan dila)
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The polar coordinates of a point
arer =8 m and 6 = 150°. What
are the Cartesian coordinates

(x,y) of this point

/ dylay
=-6.9m,y=4m ;63110
4 daan dily)
X=-6.9m,y=4m
daja 0.5 o dajy 0.5 4 Jlguull

What is the z component of the
vector ( 107+ 907 —30k ) m

30m @ :63all dilayl

30m @ dnndb)
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daja 0.5 o daya 0.5 5 Jlguull

The ratings of a TV show is a

vector quantity

lha @ 63300l dilayl

lha daian dilal

daja 0.5 go dan 0.5 6 Jlguull

A unit vector is dimensionless
vector having a magnitude of
exactly 1

dlgn 0 63310l dilal

Jdign 9 dann dily)
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daja 0.5 (po daja 0.5 7 Jlguull

We can adding scalar and vector

quantity
lha @ :6x310ll dilayl
lha & :dann dilal
daja 0.5 (jo daja 0.5 8 Jlguull

A vector lying in the xy plane has
components of opposite sign. The
vector must lie in the second and
fourth quadrant

dlgn o :6330ll dilal

Jdign L dann dily|
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daja 0.5 o dajy 0.5 9 Jlguull

Vector A lies in the first
quadrant, its components will be

positive
dlgn 0 :63110ll dila VI
Jdign & dann dily)
a3y 0.5 go ay)x 0.5 10 Jlguull

Vector Alies in the third
quadrant, its components will be
negative

dlgn @ :83310ll dylayl

Jdign & dann dily)
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Express the vector u in terms of
.a,b,c

a-b -c @ a0l dlyl

a-b -c % daan dilal
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Your dog is running around the grass in your back yard. He
undergoes successive displacements 3.50 m south and 15.0 m
west. What is his distnace

18.5m & :633all &byl

18.5m & ‘danndhl

daja 0.5 go daja 0.5 2 Jlguull

A particle undergoes two consecutive displacements

A=(1571-15))cm and B=(-107+ 10))cm
the magnitude of the resultant displacement is

7.07cm {:f :6330ll il vl

7.07cm @ ‘dwnodbl
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daja 0.5 go dajn 0

3 J1guull

What is the z component of the vector ( 107+ 90?— 30k )m

30m 0 1623100l cl.ll;\.'!”

30m @ dann dll

daja 0.5 jo dajy 0.5

4 Jlguull
The magnitudes of two vectors Aand B are A= 8 unitsand B =6

units. Find the largest value possible for the magnitude of the
resultant vector R=A+B

14 @ ‘dpodb)

dajy 0.5 g0 daja 0.5

5 Jlguull

Three displacements are A = 30 m, due south; B = 40 m, due west; C

=15m, 30.0° east of north. The following diagram represent the
adding R=C+B+A

Jlgn @ 63130l dylayl

ulgn @ dauan dily)

dajy 0.5 o da)x 0.5

6 Jlguull

The volume of water in a can is a vector quantity

lha @ :631a0ll dilayl
lha @ dyan dly)
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da 0.5 go daa 0.5 6 Jlguull

The volume of water in a can is a vector quantity

lha @ 63330l dilayl
lba @ :daan dl)

da)r 0.5 Jo daja 0.5 7 Jlguull

A vector lying in the xy plane has components of opposite sign. The
vector must lie in the third quadrant

loa @ :63aaall dilayl
by @ daandl)

daja 0.5 Jo daja 0.5 8 Jlguull
The distance between Taif and Jeddah is a vector quantity

ha @ 630l dilayl
bha @  duan dly)

daja 0.5 Jo daja 0.5 9 Jlguull
In some cases the distance equals to the displacment

dlgn 0 :631a0ll dilayl

dign @ daan dla)

)3 0.5 g0 423 0.5 10 Jlgaull

Vector A lies in the xy plane. Both of its components will be negative
if it points from the origin into the third quadrant

ulgn @ :63110ll dilayl
yign @ daan dily)

AST p LXEST 155, Jgl (galoa Y& cleyjll

@dlgo <
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d)2 0.5 (o dajx 0.5 1 Jlguull

The magnitudes of two vectors A and B are A =5 units and B =2

units. The largest value possible for the resultant vector R=A+B

is7
dlgn @ :83xaall dilayl
Jign @ daan dl)
d33 0.5 (o dajy 0.5 2 Jlguull

The magnitude of vector A is 8 km, and the magnitude of B is 6 km.
The possible values for the magnitude of A+ Bis 6

ulgn @ :63310ll dilayl

dign @ dapn dly|

daya 0.5 go dajy 0.5 3 Jlguull

The width of classroom is vector quantity

lha @ 6330l dslayl
by @ dayandly)
@33 0.5 go dajx 0.5 4 Jlguull

The ¥ component of the vector ( 107 - 9% ) mis 19m

Lha :633a0ll dylayl
Lha

@
3 @ dane dl)

da)y 0.5 go daja 0.5 5 Jlguull

Three displacements are A = 200 m, due south; B =250 m, due west; C =
150 m, 30.0° east of north. The following diagram represent the
adding R=B+A+C

lha @ :63a0ll dilayl
lha @ dayao dla)
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daja 0.5 Jo daja 0.5 6 Jl1guull

The length of bedroom is a scalar quantity

daja 0.5 o da)a 0.5 71."&-“-'-"

The vector A has an x component of Ay =4.00 units and ay
component of Ay = 8.00 units. Find the magnitude of this vector

89  :0aall dlyl

89 & dann dila)

daya 0.5 o daya 0.5 8 Jlgaull

The vector A has an x component of Ay = 10.0 unitsand a y
component of Ay = 10.0 units. Find the direction of this vector

B =45° @ :6xaall abyl

=45 @ :dnodab)
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dajy 0.5 (o dajy 0.5 1 Jlguul

Obtain expressions in component
form for the position vectors having
the polar coordinates ( 12.8 m,

150°
dila i
X=-11m, y=64m 183110l
4 daan dily|
X=-11m, y=64m
dajar 0.5 o dapn 0 2 Jlguddl

Your cat is running around the
grass in your back yard. He
undergoes successive
displacements 4 m south and 20.0

m west. What is the his distance

204m Q :6xaaall dilayl

24m  :dalan dilal
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dajs 0.5 ¢po d3ya 0.5 4 Jlguull

The vector sum (magnitude only) of
25.0 m, north + 18.0 m, Eastis

m

30.8 7 630l alyl
30.8 @ dnndb)

The magnitude of vector Ais 8 km,
and the magnitude of B is 6 km.
The possible values for the
magnitude of A+ Bis 2

lha € :6x3310ll dilayl

Jdign 9 dann dily)
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daja 0.5 go dax 0.5 6 Jlguull

If the vector A along the direction of
vector B is zero, this means that
they have the same magnitude and

same direction

lha @ :63310l1 dilayl

by &  :duan dilal
d3jy 0.5 go daya 0 7 Jlguull

It is possible to add a vector
quantity to a scalar quantity

dlgn € 63310l dylal

lha & danin dila]
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da)y 0.5 go dan 0 1 Jlguull
The force is a scalar quantity

dlgn €3 :6a3110ll dilaI

by &  :duan dilal

da)y 0.5 Jo daa 0 2 Jlguull

The magnitudes of two vectors A
and Bare A=5unitsand B = 2
units. The smallest value

possible for the resultant vector

R=A+B is 2

lha € :63110ll dilayl

dlgn O daan dily)

Scanned with CamScanner



dxA. 0.5 go dxgs 0.5 3 Jiquudl

The velocity of a sports car is a

scalar quantity

lha @ 63300l dilayl

lha & dainn dilal

dajy 0.5 jo dajy 0.5 4 Jlguull

The magnitude of a vector have a
negative value

lha @ :63310ll dilayl

bha & daan dilal

Scanned with CamScanner



daja 0.5 o dajy 0.5 5 Jlguull

Vector A lies in the xy plane. Both
of its components will be negative if
it points from the origin into the
second quadrant

lha @ :63310ll dilayl

lbha & :duan dilal

dajy 0.5 (Jo daja 0.5 6 Jlguull

The volume of oil is a scalar

quantity

dlgn 0 63310l dila)

dlgn ©¢  :daan dila)

Scanned with CamScanner



daja 0.5 Jo dajy 0.5 7 Jlguull

A point in the xy plane has
Cartesian coordinates (6.00,
10.00) m. Determine the polar

coordinates (r, ©

r=11.66, 6 =59° @& :6:xa0ll il
r=11.66, 6=59° & :danndly
da)3 0.5 go dyyy 0.5 8 Jlguull

The vector A has an y component
of Ay = 5.0 units. Find the Ay of x

compoenet if the resultant of the
vector R = 7 unit

Ay=4.9 @ 3310l dlayl

Ay=49 @ dandll
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dajy 0.5 go daja 0.5 9 Jlguull

The Cartesian coordinates of a
point are given by (5, 2), and its
polar coordinates are (r, 21.8°).

Determine the value of r

53 ) :63210l| dilayl
5.3 & cduwndl]
daja 0.5 (Jo daja 0.5 10 Jlguull

The vector A has an x component
of Ay =20.0 unitsand a y
component of Ay = 40.0 units. Find
the direction of this vector

0 =63.4° & :6:3110ll dilayl

0=634° & dunadll

Scanned with CamScanner



dajy 0.5 (o dajy 0.5 1 Jlguul

Obtain expressions in component
form for the position vectors having
the polar coordinates ( 12.8 m,

150°
dila i
X=-11m, y=64m 183110l
4 daan dily|
X=-11m, y=64m
dajar 0.5 o dapn 0 2 Jlguddl

Your cat is running around the
grass in your back yard. He
undergoes successive
displacements 4 m south and 20.0

m west. What is the his distance

204m Q :6xaaall dilayl

24m  :dalan dilal

Scanned with CamScanner



dyy 0.5 (o day 0.5 4 Jlguull

The vector sum (magnitude only) of
25.0 m, north + 18.0 m, Eastis
m

30.8 7 oanall byl
30.8 @ dnnakl

The magnitude of vector A is 8 km,
and the magnitude of B is 6 km.
The possible values for the
magnitude of A+ Bis 2

lha € :6x310ll dilal

Jdign ¢ daan dilnl
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dajy 0.5 go dajx 0.5 6 Jlguull

If the vector A along the direction of
vector B Is zero, this means that

they have the same magnitude and

same direction

lha @ 63300l dilayl

lha @ daan dil;|

da)2 0.5 go da)a 0 7 Jlguull

It is possible to add a vector
quantity to a scalar quantity

dlgn € 63310l dylal

lha & daan dilal

Scanned with CamScanner



dajy 0.5 Jo dajn 0

1 Jlguull
The force is a scalar quantity

dlgn € :63310ll dylayl

lha @ dann dl

d3)3 0.5 go daja 0 2 JIguull

The magnitudes of two vectors A
and B are A = 5 unitsand B = 2

units. The smallest value

possible for the resultant vector

R=A+Bis 2

lha € 63110l dilayl

dign » daan diln

Scanned with CamScanner



dajy 0.5 go dajx 0.5 5 Jlgudll

Vector A lies in the xy plane. Both
of its components will be negative if
it points from the origin into the
second quadrant

Uha @ :63310l1 dilayl

lha @ :dan dll

dajy 0.5 (o daja 0.5 6 Jlguull

The volume of oil is a scalar

quantity

dlgn 00 :63310ll dilaVi

dlgn ©»  :danan diln

Scanned with CamScanner



daja 0.5 Jo dajy 0.5 7 Jlguull

A point in the xy plane has
Cartesian coordinates (6.00,
10.00) m. Determine the polar

coordinates (r, ©

r=11.66, 6 =59° @& :6:xa0ll il
r=11.66, 6=59° & :danndly
da)3 0.5 go dyyy 0.5 8 Jlguull

The vector A has an y component
of Ay = 5.0 units. Find the Ay of x

compoenet if the resultant of the
vector R = 7 unit

Ay=4.9 @ 3310l dlayl

Ay=49 @ dandll

Scanned with CamScanner



day, LS dmo dys 0.5 3 Jiqudl

The velocity of a sports car is a

scalar quantity

lha € 63300l dilayl

lha & daian dilal

-

dajy 0.5 Jo dajy 0.5 4 Jlguull

The magnitude of a vector have a
negative value

Iha @ 83310l dilayl

by &  duan dilal
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daya 0.5 ge dxpp 0.5 9 Jlguull

The Cartesian coordinates of a
point are given by (5, 2), and its
polar coordinates are (r, 21.8°).

Determine the value of r

5.3 :63210ll dilal
5 3 , dann dil|
dajy 0.5 go daja 0.5 10 Jlguull

The vector A has an x component
of Ay = 20.0 unitsand a 'y
component of Ay = 40.0 units. Find
the direction of this vector

0 =63.4° & :6x20ll dilbyl

0=63.4° @ dwndlb)
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dajy 0.5 o da)y 0.5 5 Jlgudl
The unit of mass in S.I. is gram

lha @ :63310ll dslayl

lha @ :dyan dly)

dajy 0.5 go daja 0.5 6 Jlguull

The mass of an electron is a

vector quantity

lha @ 63310l dilayl

lha @ :dapn dll

d3)3 0.5 o @33 0.5 7 J1gull

The width of classroom is vector

quantity

lha @ :6330ll dslal

lha @ :dann dily)
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daja 0.5 (o daya 0.5 2 J1guull

A point in the xy plane has
Cartesian coordinates (4.00,
-2.00) m. Determine the

polar coordinates (r, 6

/ ailayl
r=44, 6=- 633101
20.5"

v dilal
r=4.4, 0 =- :dan
26.5°
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daja 0.5 Jo daya 0.5 7 Jlguall

The volume of water in a

can is a vector quantity

lha @ :63300ll dilayl

lha ¢ danan dilal

daya 0.5 o dayx 0.5 8 Jlguull

The temperature inside the

fridge is a vector quantity

lha @ :63310ll dilayl

bha & :duan dila]

_—
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d2)2 0.5 go da)x 0.5 7 Jlgquull
The unit of velocity is m/s

algn @ :83310ll @layl

Jdign (@ dann aily)

a3 0.5 go a2 0.5 8 Jlguull

The temperature outside

the university is a vector

quantity

[h4 g :63110l] dilaVl

ha €9 danan dilal

T
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dap 05 3o dap 0.5 3 Jlguull

The polar coordinates of a
pointarer =1 m and 6 = 30°.
What are the Cartesian

coordinates (x,y) of this point

@ dabyl
X=0.866m, y=05m :63all

@ dbl

Xx=0866m, y=05m :dann
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dajy 0.5 (Jo daja 0.5 2 Jlguull

If vectors A - B =0, this means
that they have the same
magnitude and same direction

lha @ :63310ll dilayl

lha & :daan dilal

dajy 0.5 Jo dajy 0.5 3 Jlguall

The height of a building is a

vector quantity

ha 0 :63310ll dila VI

ha @& :duan ailal
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daja 0.5 o daja 0.5 3 Jlguull

The vector A has an x component of
Ay = -2.00 units and a y component
of Ay = 2.00 units. Find the
magnitude of this vector

2.8 V) :63310ll dilal

28 & dnndb)

dajy 0.5 o dajy 0.5 4 Jlguull

A particle undergoes three
consecutive displacements

C=Gi-4]-2Kcm
B= (17— 1?+ GE)cm and
A=QT+2]+2Kem,
the magnitude of the resultant
displacement is

10.44cm @ :6xall dilbyi

10.44cm @ dnndb)
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The volume of oil is a scalar

quantity

algn @ :83310ll dilayl

Jdign & dann dily)
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directed eastward. Which of
the following vector
addition diagrams best
representthe addition of
vectors A and B and the

subsequent resultant?

D @ :631all dlayl

S

D & Gdnnakl
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daja 0.5 o dajy 0.5 9 Jlguull

A unit vector is dimensionless
vector having a magnitude of

exactly 1

dlgn g :63x0ll dila |

Jdign O dauan dlal

@)305 o @05 10 Jlgull

The velocity of a sports car

IS a vector quantity

dign ¢ :63110ll dilayl

Jdign & dann byl

L
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Express the vector u in terms of

.a,b,c
a
b P

u

C

-a -b -c¢c @ :Byaalldhyl

@ -b-c © ndb
da)3 0.5 go da)2 0.5 2 Jlguull

The vector A has an x component
of Ax = 9.0 units. Find the Ay of y
compoenet if the resultant of the

vector R = 12.73 unit

Ay =9 @& :xall dilayl

Ay =9 & dundlal
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d2)3 0.5 go daj2 0.5 5 Jlguull
The unit of mass in S.1. is gram

lha @ :63330ll dlayl

lha @ :dann dilal

dy2 0.5 go dayr 0.5 6 Jlguull

The mass of an electron is a

vector quantity

lha @ :63320ll dylayl

lha @ :daan dll

da3 0.5 go daja 0.5 7 J1guull

The width of classroom is vector

quantity

lha @ :63330ll dilayl

lha @ :duan dilal

Scanned with CamScanner



dajy 0.5 (o dajy 0.5 2 Jlguull

A point in the xy plane has
Cartesian coordinates (4.00,
-2.00) m. Determine the

polar coordinates (r, 6

/. ailyl
r=4.4, 6=- :63310l
20.5°

v dilal
r=4.4, 6 =- :daan
26.5°
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daja 0.5 Jo daya 0.5 7 Jlguall

The volume of water in a

can is a vector quantity

lha @ :63300ll dilayl

lha ¢ danan dilal

daya 0.5 o dayx 0.5 8 Jlguull

The temperature inside the

fridge is a vector quantity

lha @ :63310ll dilayl

bha & :duan dila]

_—
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d2)2 0.5 go da)x 0.5 7 Jlgquull
The unit of velocity is m/s

algn @ :83310ll @layl

Jdign (@ dann aily)

a3 0.5 go a2 0.5 8 Jlguull

The temperature outside

the university is a vector

quantity

[h4 g :63110l] dilaVl

ha €9 danan dilal

T

Scanned with CamScanner



dap 05 3o dap 0.5 3 Jlguull

The polar coordinates of a
pointarer =1 m and 6 = 30°.
What are the Cartesian

coordinates (x,y) of this point

@ dabyl
X=0.866m, y=05m :63all

@ dbl

Xx=0866m, y=05m :dann

Scanned with CamScanner



@33 0530 @305 5 J1guull

Vector A lies in the xy plane.
Both of its components will be
negative if it points from the
origin into the first quadrant

lha @ 63310l dylayl

lha @ :dyan dily)

da)y 0.5 gyo d3ja 0.5 6 Jlguull

The volume of water in a

can is a vector quantity
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dajar 0.5 go daja 0.5 4 Jlguull

What is the z component of
the vector ( 107 + 90? — 30Kk )

m
30m & :63210ll dila i

-30m @ daan dila)
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d)r 0.5 o daya 0.5 5 Jlguull

The velocity of a sports car

IS a scalar quantity

lha @ :6a3aall dilayl

Lo

d3)2 0.5 go @33 0.5 6 Jlguull

The volume of oil is a scalar

quantity

dlgn 0 163310l dila VI

Jdign »  danan dal)

T
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d3)3 0.5 go a3)a 0.5 1 Jlguull

The polar coordinates of a
pointarer =2 mand 0 =
60°. What are the Cartesian

coordinates (x,y) of this

point

v dilyl
X=1m, y=1.7 :63110ll
m

v dilal
X=1m, y=1.7 daan
m
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dajy 0.5 Jo dajy 0.5 1 Jlguull

The vector A has an x
component of Ay, = 5.00 units
and a y component of Ay =
5.00 units. Find the direction of
this vector

B =45° & :63a1all dilayl

0=45° & daandl)

e
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daja 0.5 o daja 0.5 3 Jlguull

The magnitudes of two vectors A
and B are A =10 units and B = 2
units. Find the largest value
possible for the magnitude of

the resultant vector R=A + B

12 @ :6330ll d&ilayl

12 @ danndbl

daja 0.5 o daja 0.5 4 Jlguull

The magnitudes of two vectors A
andBare A=10unitsand B =2
units. Find the smallest value
possible for the magnitude of the
resultant vector R=A+B

8 & :63310l] dilal

8 @ Gdndl]
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0.5 points  Save Answer

The force is a scalar quantity
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The volume of water in a can is a scalar
guantity

True o
False O
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daja 0.5 (o dajy 0.5 6 Jlguull

The magnitude of a vector
have a negative value

ha @ 63310l dlayl

lha &  :daan dilal

dajy 0.5 (o daja 0.5 7 Jlguull

A point in the xy plane has
Cartesian coordinates (5.00,
-5.00) m. Determine the

polar coordinates (r, 6

v &layl
r=7.07, 6=- :63210ll
45°
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0.5 points

The unit of velocity is m/s
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The magnitude of vector A is 8 km, and the
magnitude of B is 6 km. The possible
values for the magnitude of A+ Bis 6
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0.5 points  Save Answer

A unit vector is dimensionless vector having
a magnitude of exactly 1
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What is the z component of the vector (

97—7j)m

© 9 99
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a3 0.5 go ay)x 0.5 9 Jlguull

Vector A lies in the second
quadrant, its components will
be positive

lha @ :63330ll dilayl

-—

hy @ :dann dlal

da)y 0.5 go d3)a 0.5 10 Jlguull

The velocity of a sports car

IS a vector quantity

dlgn  ©0 :63a10ll dila

&

dign » daan allal

-
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dajy 0.5 go daja 0.5 9 Jlguull

The magnitudes of two vectors A
and Bare A= 5unitsand B = 2
units. The smallest value

possible for the resultant vector

R=A+B is 2
ulgn € :63310ll dila ]
dglgn &  dann dbl
da)y 0.5 go d3ja 0.5 10 Jlguull

If the vector A along the direction of
vector B is zero, this means that
they have the same magnitude and
opposite direction

dlgn € :63310ll dilayl

:daan diby|

€

Jl
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daja 0.5 go daja 0.5 1 Jlguull

Consider the magnitude and
direction of vectors Aand B as
shown in Diagram 1 below. Which
oneof the following diagrams would

Dngmen [
v 37
P )__.-' "
/ i
Fd

represent B - A=R?

je—Y [haagram B
,;”j" B y
.--r F. -‘.
iiﬁ E 'H?

Diagram B @ :6xall dilayl

Diagram B @& :duan dilal

daja 0.5 go daja 0.5 2 Jlguull

The polar coordinates of a point
arer =10 m and 6 = 45°, What
are the Cartesian coordinates

(x,y) of this point

& byl
x=7.07m,y ;63210
=7.07m
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daja 0.5 go daja 0.5 5 Jlguull

A vector lying in the xy plane has
components of opposite sign. The

vector must lie in the second

quadrant
algn € :63310ll dilayl
dlgn & duan dilal
dajy 0.5 o dajy 0.5 6 Jlguull

If A= -B, this means that they have
the same magnitude and opposite
direction

Jlgn € :6331all dilay

ulgn ©  :duan dily]
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d2)y 0.5 go d)a 0.5 1 Jlguull
The force is a scalar quantity

e

ha @ :83300ll dlal

lha @& :duan dilal

daja 0.5 o dajy 0.5 2 Jlguull

The age of the Universe is a

scalar quantity

dlgn s :63310ll dilaVl

Jlgn & :daan dilal
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daja 0.5 go @2j3 0.5 8 Jlguull

Vector A lies in the first
guadrant, its components will be

negative
lha @ :63310ll dilayl
dajy 0.5 jo daja 0.5 9 Jlguull

The magnitudes of two vectors A
and Bare A=5unitsand B =2
units. The smallest value

possible for the resultant vector

R=A+B is 2

dlgn 9 :63310ll dila VI

€

i

daan dilal

Scanned with CamScanner



daa 0.5 o daya 0.5 3 Jlguuall

Three displacements are A= 30 m,
due south; B = 40 m, due west; C =
15 m, 30.0° east of north. The
following diagram represent the
adding R=C+B+A

ulgn  ©4 83300l dila VI

dlgn ©  danan dilal
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@2 0.5 go aya 0.5 6 Jlguull

The magnitude of a vector
have a negative value

ha €9 163200l dilayl

hy @ dapn dlb)

dajy 0.5 o dajy 0.5 7 J1guull

A point in the xy plane has
Cartesian coordinates (5.00,
-5.00) m. Determine the

polar coordinates (r, 6

v alayl
r=7.07, 6=- -63310ll
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dajy 0.5 o dajx 0.5 4 Jlguull

If the vector A along the direction of
vector B is zero, this means that
they have the same magnitude and

opposite direction

dlgn 063320l dila

Jlgn 0 danan dilal

-

dajy 0.5 o dajy 0.5 5 Jlguull

The acceleration of car is a

vector quantity

dlgn ©# 63330l dila

dign & danan dilal

—
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daja 0.5 o daja 0.5 8 Jlguull

The distance between Taif and
Riyadh is a scalar quantity

Jign € 83310l dilayl

Jlgn @ :dann dila)

daja 0.5 (o daja 0.5 9 Jlguul

Three displacements are A = 200 m,
due south; B = 250 m, due west; C
=150 m, 30.0° east of north.

The following diagram represent
the adding R=B+A+C

Lha

2 :63310ll dilal

@ danndily|

-
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dajy 0.5 o daja 0.5 8 dlg_._ujl

A particle undergoes two
consecutive displacements

and B=(1071-10))cm
A= (5?+ S?}Cm

the magnitude of the resultant
displacement is

15.8cm &2 :63310l| dila Vi
15.8cm @ o dabl

The vector sum (magnitude only) of
25.0 m, north + 18.0 m, Eastis
m

30.8 @ :63maall dilhy

308 @ cdvandlb)

s
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dajy 0.5 go daja 0.5 10 Jlguull

The vector A has an x component of
Ay = 8.00 units and a y component
of Ay =4.00 units. Find the direction

of this vector

0 =26.5° & :6310ll dilbyl

0=26.5° @ duandly)

-
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daja 0.5 o daja 0.5 6 Jlguull

The ratings of a TV show is a

scalar quantity

ulgn @ 83110l dilayl

dign & dann dilal

daja 0.5 o dajy 0.5 7 Jlguull

A particle undergoes two
consecutive displacements

—p M P

and B=(10/-10j)cm
Z= (5?+5?) cm

the direction of the displacement is

0=-18.4° & :63310ll d&ilayl

- _ 18_4° &% ﬂJ-LlEI l:1.l|.3!

=2
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dajy 0.5 go dajp 0.5 2 Jlguull

If vectors A - B =0, this means
that they have the same
magnitude and same direction

lha @ :63210ll dilayl

lha & :danan dilal

dajy 0.5 Jo dajy 0.5 3 Jlguull

The height of a building is a

vector quantity

ha 0 :63310ll dila VI

ha @& :duan ailal
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dajy 0.5 (jo daja 0.5 3 Jlguull

A particle undergoes three

consecutive displacements
C=(107-10)cm
B=(101-10] +6k)cm and

A= (5?+ 5?+ 3?2) cm,

the magnitude of the resultant
displacement is

30.5cm @ 63210l dilayl

30.5cm @ ‘ewReddl
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da)x 0.5 go dan 0.5 1 Jlgudll

The velocity of a sports car

IS a scalar quantity

lha @ 63110l dslayl

algn ablayl
lha &
daja 0.5 go daj 0.5 2 Jlguull

The x compount of vector (

107 —9% )m is 10m

Jlgn € :63110]l dilayl
Jlgn & :ablhyl

tha
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da)3 0.5 go da)a 0.5 8 Jlguull

The polar coordinates of a
pointarer=5mand 6 =
90°. What are the Cartesian
coordinates (x,y) of this

point

@ abyl

X=0m,y=5m  :éxnall

@ abbyl
X=0m,y=5m

X=0m,y=0m
X=5m,y=5m

X=5m,y=0m

da)3 0.5 go aap 05 9 Jlguull

Which of these express a
vector quantity

II'!.- Ailanll
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daja 0.5 o dajy 0.5 5 Jlguull

The age of the Universe is a

scalar quantity

lgn €9 63310l dilal

dlgn & :abhyl
Lha
dajy 0.5 go dajy 0.5 6 Jlguull

The volume of water in a

can is a scalar quantity

ulgn € 83310l dsla VI
dlgn :abla i

Lha
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dajy 0.5 o dajr 0.5 3 Jlguull

Vector A lies in the xy plane.
Both of its components will be
negative if it points from the
origin into the fourth quadrant

lha @ :63310ll dilayl

ulgn :ablyl
lha @
dajy 0.5 go daja 0.5 4 Jlguull

The wieght of physics book

IS @ vector quantity

ulgn €9 :63310ll dilayl

Jlgn @ ablayl

-

lha
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daja 0.5 go dajy 0.5 9 Jlguull

Which of these express a

vector quantity

& dilayl
10m/s to the 63310l
north
10kg :allayl
10m/s

10kg to the north

&
10m/s to the

north
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daja 0.5 go @22 0.5 10 Jlguull

The polar coordinates of a
pointarer =1 m and 6 = 30°.
What are the Cartesian

coordinates (x,y) of this point
@ dbyl
Xx=0.866m, y=05m :xnall
X=1m, y=0866m :abhyl
X=0.7m, y=15m
X=00m, y=0.5m

&
x=0.866m, y=0.5m
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daja 0.5 o dajy 0.5 9 Jlguull

The magnitude of vector Ais 8 km,
and the magnitude of B is 6 km.
The possible values for the
magnitude of A+ Bis 8

dign 9 :6331all dila
Jign :}ablyl

Lha

da)3 0.5 go dp)a 0.5 10 Jlguull

The magnitudes of two vectors A
and Bare A= 5unitsand B = 2
units. The smallest value

possible for the resultant vector

R=A+B is 2

dlgn © 163310l dila Vi
dlgn :ablhyl

Lha
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dajy 0.5 go daja 0.5 5 Jlguull

Vector Alies in the first
quadrant, its components will be
negative

Uaa @ :63110ll dila VI
Jlgn bl

T
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due south; B = 25 m, due west; C =
15 m, 30.0° east of north. The
following diagram represent the
addingR=A+C +B

lha @ :6330all dilayl

lgn :abbyl

dajr 0.5 o daja 0.5 7 Jlguull

A unit vector is dimensionless
vector having a magnitude of
exactly 1

dlgn @ 63330l dylayl
Jdlgn o :ablayl

T

Lha
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dajs 0.5 go daya 0.5 4 J1guull

The vector A has an x component
of Ay = 6.0 units. Find the Ay of y

compoenet if the resultant of the

vector R = 10 unit

Ay =8 2 82310l dilhl
Ay =4 ablayl
Ay =10
Ay =20
Ay =8 "
d3)> 0.5 go a3 0.5 5 Jlguull

Vector A lies in the first
quadrant, its components will be
negative

lha @ :63300ll dilayl

Jlgn :ablayl
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daja 0.5 (o daja 0.5 3 Jlguull

The vector A has an y component
of Ay = 5.0 units. Find the Ay of X
compoenet if the resultant of the

vector R = 7 unit

Ay =49 @& :63a0ll dilayl
Ay =20 ablayl
Ay =10

Ax=49 €

Ay =4
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How many different vectors are
drawn here

/
.._//_

2 & 623310l dilayl
a2 :ablyl
2 &
4
5
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daja 0.5 go daja 0.5 1 Jlguul

How many different vectors are

drawn here
NS
N
5 @ Bl dhy
5 & abbyl
2
4
3
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